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U7D3MCR3UI Geometric Sequences
What is similar about the following sequences?

1. 2, 6, 18, 54. . ..
A I
*3 s %3 * all are
exponen-\-io.l
2. 2,10, 50, 250. . .. Lunchons
oA
x5 %5 x5 5 "’key all
hove o
3 y Common
3. 5\’_/«110' 20, 40, 80. . .. mrEl—To

All of these sequences are classified as geometric
sequences since each term is generated

by multiplying the previous term by the same
amount called the COMMON RATIO.
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A geometric sequence looks like :
a,ar,ar?,ar3,... or
In general,[t, = ar™™?)

t, = general term or nt"term
a = first term
n = term number or number of terms

r = common ratio or multiplying factor
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Examples:
1. Determine t,, and t;, for the following
geometric sequences:
a) 5, 20, 80, 320 ..
&

4 xq %A = 5[‘-})
Q=5 r=4 5["')
n-1
+ =504 -L = | 310720
n 10
_33_2%27 r="27.9 rz A:.-3
b) 2, 2’8’ 32 ;2 8 g 2
- ‘__ - 92
_ _-3 r= 3;“§ V= Sx2
0= =g =2 Vo-3”
< 4 _ “4
£ = ;{(‘_§> r=-"3.2
n q 27T
9 "33
-klo = 2("3) r=--3
47 )
o’v Common M‘h‘o -_3—
L, _ —19683 — <
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2. Determine the number of terms in the
sequence 3, 6, 12, 24. . . . 96.

a=3 =2 w=7 t =
Method', 3 (1)“—l: q(, _isolde <rial € errormethod.

Po:\wr n ‘h-l
Ao L a:3th 12
n-l write (
= 32 o
a 3 32 of’er M
n-1 5 0'%9*
02 = ) set
=g e xponents
n-1= eqvua\
nN==0 .. there are six

derms in +his finite
33@#&@/’!‘1’0 uence-
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3.
geometric sequenceS'

=[5
a) if t3 =15 and t6 =
Subs-"nlu-)ll on Method
O ar’=15 O ar’="405
a-13
" 15 (%) o5
r* .
r3=-27
Ao NoT

need d * in ‘G‘“\"'
o-F on oDD voot.

Determine t; if for each of the following

"b ;arﬂ"l

= ~H05
—405 £limination Method
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3. continued... Determine t; if for each of the
following geometric sequences:

ar"t+
b)if t; = 60 and t; = 960.
ar =60 + = I5(=)""
ar L0 = f
160 =b0 q
ar® = 60 a(le; 4,=150)
r A _Lw: T80
9 +need -
P = =+ 5mce L =-—
’ we a.re g {:ID 7680
[_73 "‘ﬁe 4 root
an a__N voot

()=
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4, Express the geometric sequences defined

2 n-1
by the generalterm t,, = 3 (E) ,asa

recursive sequence.

-/:K =<‘£k_)(§> =3 ke k>

o _
te= 34, ot3

6
'EK: -Lk-l X (%\\ -EI:B

o ~ 2\ L =
ten® ‘E“LTS' » V73

U7D3 Practice: p. 452 #1-7(e00), 9, 12, 16
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